
 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

  

 

   

 

 

 

 

 

  

 

 
REQUIRED TOOLS (ARB) 
Ratchet 
T40 Torx Bit 
10mm Socket 
or Wrench 
 

REQUIRED TOOLS 
(VIAIR) 
Ratchet 
T40 Torx Bit 
10mm Socket 
or Wrench 
Two 8mm or 
5/16” Wrenches 
Chalk 

 
KIT CONTAINS 
ARB & VIAIR Compressor Bracket 
ARB Compressor Bracket 
ARB Switch Mount 
M6 12mm Washer 
M6 11.8mm Split Lock Washer 
M6 20mm Hex Head Screw 
M6 40mm Hex Head Screw 
M5 10mm Washer 
M5 Nylock Locknut  
M5 30mm Hex Head Screw  
Adhesive-Backed 3/8” Tall Neoprene 
Block  
Adhesive-Backed 9/16” Tall Neoprene 
Block  
 

 
QTY 

1 
1 
1 

14 
14 
12 
2 
8 
4 
4 
1 
 

1 
 

VIAIR (Pg. 4-6) 
 

ARB (Pg. 1-3) 
 

VIAIR (Pg. 4-6) 
 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

1 
 

ARB COMPRESSOR INSTALLATION: 
 

1) PREPARING FOR YOUR INSTALL 
Lift up your driver’s side back seat. Remove any items 
you may have lying in the work area.  
 
With a T40 torx bit and a ratchet, remove the two 
bolts located under your seat.  
 

 
 
NOTE: You can put the two factory bolts in the bolt 
compartment located under your seat to store as we 
will not be reusing them. 
 

 
 
 
 
 
 
 
 

2) INSTALL YOUR COMPRESSOR’S BRACKETS 
Flip your air compressor onto its front face. Take 
your ARB Compressor Bracket with the ridges faced 
upward and line it up with the holes on the back of 
your air compressor.  
 

 
 
Using a 10mm socket or a wrench, screw in eight of 
the short M6 screws, lock washers, and washers. 
 

 
 
 
 
 
 
 
 
 
 
 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

2 
 

Take your bracket and line it up with the two factory 
holes located under your seat.  
 

 
 
With a T40 torx bit, install the two included long M6 
screws.  
 

 
 
NOTE: Make sure not to tighten the screws too much 
as it may damage your plastic panel.  
 
 
 
 
 
 
 
 
 
 
 

3) INSTALL THE AIR COMPRESSOR 
Slide your ARB air compressor onto the bracket 
located under your seat with the air filters facing the 
JT’s tailgate. The bracket’s ridges on your air 
compressor should be on the outside of the bracket. 
 

 
 
Once you have the bracket holes aligned, screw in 
two of the included short M6 screws, lock washers, 
and washers with a 10mm socket or wrench on the 
side furthest away from you. 
 
Once in place, take your ARB Switch Mount and hold 
it up to the bracket’s side closest to you.  
 

 
 
 
 
 
 
 
 
 
 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

3 
 

With the bracket holes aligned, use the remaining 
short M6 screws, lock washers, and washers and 
screw them into place using a 10mm socket or 
wrench, ensuring a tight fit. 
 
NOTE: Depending on the length of your ratchet and 
socket, these screws may require the use of a wrench 
 

 
 

4) INSTALL THE AIR COMPRESSOR’S SWITCH 
Once you have everything secure and in place, run 
your wiring up through the hole on your ARB Switch 
Mount and connect it to the switch. If your 
compressor mount didn’t include one, disregard this 
step. 
 
The wiring can be run towards the rear seat and 
under the carpet to various locations. 
 

 
 

 
 

5) ENJOY YOUR NEW ARB AIR COMPRESSOR MOUNT! 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

4 
 

VIAIR COMPRESSOR INSTALLATION: 
 

1) PREPARING FOR YOUR INSTALL 
Lift up your driver’s side back seat. Remove any items 
you may have lying in the work area.  
 
With a T40 torx bit and a ratchet, remove the two 
bolts located under your seat.  
 

 
 
NOTE: You can put the two factory bolts in the bolt 
compartment located under your seat to store as we 
will not be reusing them. 
 

 
 
 
 
 
 
 
 

2) INSTALL YOUR COMPRESSORS BRACKET 
Hold your compressor sideways against the back side 
of your mount. Our mount is designed to where your 
compressor can either face the left or the right 
depending on your preference. 
 

 
 

 
 
We included two adhesive blocks to fit between your 
compressor and the mount. This is to help reduce 
any vibrations or noise that could be made while on 
the road.  
 

 

Tall Short 
 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

5 
 

The shorter rubber support will sit under the ridge 
located next to the compressor’s piston assembly 
and the taller rubber support will sit on the opposite 
end. 
 

 
 
Line up your compressor mount with the compressor 
mounts holes.  
 
With a piece of chalk, mark the location where the 
ridges sit on your bracket.  
 

 
 

 
 

With your marks drawn, peel off the backing of your 
rubber support. Line up the outer end of your short 
rubber support with the marks you made, making 
sure to center it between the back and front of your 
bracket. Repeat on the opposite side with the taller 
rubber support, but place it an inch away from the 
front of your bracket. 
 

 
 

 
 

 
 

Short 

Short Tall 
 

Tall 
 



 
FB25463 

 

2019+ Jeep® JT Gladiator 

Rear Under-Seat Compressor Mount 

 

6 
 

3) INSTALL THE AIR COMPRESSOR 
Insert the included four M5 screws into the back on 
the bracket facing inwards. 
 

 
 
Take your bracket and line it up with the two factory 
holes located under your seat.  
  

 
 
With a T40 torx bit, install the two included long M6 
screws.  
 

 

NOTE: Make sure not to tighten the screws too much 
as it may damage your plastic panel.  
 
Slide your VIAIR air compressor over the screws on 
the side of your bracket.  
 

 
 
Once you have your VIAIR compressor mounted into 
place, use an 8mm or 5/16” wrench to install the 
included M5 washers and nuts retaining your 
compressor mount. You will need two wrenches for 
this step. 
 

 
 
With your air compressor secured to your mount, 
double check your rubber supports to make sure 
they stayed in place.  
 
Run the wiring and air hose towards the back of the 
seat and under the carpet. You can run these to 
various locations from here 
 

4) ENJOY YOUR NEW VIAIR AIR COMPRESSOR MOUNT 


